ST	ΔТ	F	n	E 7	ΓE	v	٨	c
31	м		u	г		л.	м	

- §
- **§ KNOW ALL MEN BY THESE PRESENTS:**

COUNTY OF FORT BEND

§

AMENDMENT TO INTERLOCAL AGREEMENT FOR CITY-MANAGED ROAD CONSTRUCTION PROJECT FORT BEND COUNTY MOBILITY PROJECT NO. 17104 – BAMORE ROAD – SEGMENT 1

This Amendment is made and entered into pursuant to the Interlocal Cooperation Act, Chapter 791 of the TEXAS GOVERNMENT CODE and Section 251.012 of the TEXAS TRANSPORTATION CODE, by and between the City of Rosenberg, a municipal corporation and home-rule city of the State of Texas, situated in Fort Bend County, acting by and through its City Council, (the "CITY"), and Fort Bend County, a body corporate and politic under the laws of the State of Texas, acting by and through its Commissioners Court, (the "County"). The City and the County may be referred to collectively as the "Parties".

RECITALS

WHEREAS, the Parties executed and accepted that certain Interlocal Agreement for City-Managed Mobility Project on November 05, 2019, (the "Agreement"); and

WHEREAS, the Parties desire to amend the Agreement to modify certain terms: and

NOW THEREFORE, the Parties do mutually agree to amend the Agreement as follows:

- Section 4. <u>County Rights and Obligations</u> of the Agreement shall be amended to add subsection G:
 - G. The County shall be solely responsible for all costs to design and construct the additional center median openings and turn lane improvements to the Project as described in Exhibit A attached hereto and incorporated herein for all purposes (the "Center Median Openings and Turn Lane Improvements"). Construction costs are currently estimated at approximately \$73,205.00. The County shall pay all such costs associated with the design and construction of the Center Median Openings and Turn Lane Improvements, separate and apart from the County's Rights and Obligations identified in Section 4 and Limit of Appropriation identified in Section 8 of the Agreement.
- II. Section 5. <u>City Rights and Obligations</u> of the Agreement shall be amended to add subsection J;
 - J. Notwithstanding the foregoing, the City shall manage the construction of the Center Median Openings and Turn Lane Improvements. All costs related to such design and construction shall be paid by the County in accordance with Section 4. G. above and shall be at no cost to the City. The City will include the costs of the Center Median Openings and Turn Lane Improvements with the full accounting to be furnished to the County pursuant to Section 5. H.

Except as provided herein, all terms and conditions of the Agreement shall remain unchanged.

IN WITNESS WHEREOF, the Parties hereto have signed or have caused their respective names to be signed to multiple counterparts to be effective on the date signed by the final party.

FORT BEND COUNTY, TEXAS	CITY OF ROSENBERG, TEXAS
KP George, County Judge	Kevin Raines, Mayor
Date:	Date: August 3, 2021
ATTEST:	Danye Swint
Laura Richard, County Clerk	Danyel Swint, City Secretary
APPROVED: J. Stacy Slawinski, P.E., County Engineer	OF ROSEARD SP.

EXHIBIT A

FORT BEND EPICENTER - OFF-SITE DESCRIPTION: BAMORE ROAD MEDIAN IMPROVEMENTS July 29, 2021

ENGINEER:

OWNER:

KALUZA, INC. 3014 AVENUE I ROSENBERG, TEXAS 77471 City of Rosenberg 2110 4th Street Rosenberg, Texas 77471

(281) 341-0808

ITEM DESCRIPTION		QUANTITY	UNIT	UNIT		TOTAL	
		QUANTITI	UNII	COST		COST	
1	REMOVE EXISTING CONCRETE PAVEMENT [Item 3]	28	SY	\$	10.00	\$	280.00
2	REMOVE EXISTING CURB [Item 4]	235	LF	\$	3.00	\$	705.00
3	EARTHWORK [Item 10]	300	CY	\$	14.00	\$	4,200.00
4	CONCRETE PAVEMENT (7") [ITEM 11]	745	SY	\$	49.00	\$	36,505.00
5	LIME TREATMENT (EXISTING MATERIAL)(8") [ITEM 12]	900	SY	\$	5.00	\$	4,500.00
6	LIME (QUICKLIME)(SLURRY) [ITEM 13]	24	TON	\$	200.00	\$	4,800.00
7	CONCRETE CURB [ITEM 15]	270	LF	\$	5.00	\$	1,350.00
8	PAVEMENT MARKINGS (W) (8") (SLD) [ITEM 39]	175	LF	\$	1.80	\$	315.00
9	PAVEMENT MARKINGS (W) (ARROW) [ITEM 40]	4	EA	\$	150.00	\$	600.00
10	PAVEMENT MARKINGS (OTHER) *	1 1	LS	\$	1,000.00	\$	1,000.00
11	12" MEDIAN CURB *	25	LF	\$	10.00	\$	250.00
12	SAWCUT *	120	LF	\$	10.00	\$	1,200.00
			100				
			476		sansa (ali		
NOTE: [ITEM XX] REFERS TO EXISTING CONTRACT ITEMS			13%				
* ITEM NOT INCLUDED IN CURRENT CONTRACT				1			
		ė.		3 3 3 3 30			
	CONTRACTOR MOBILIZATION (0.0%)	1	LS	\$	-	\$	-
	PROVIDE BONDS, INSURANCE, PERMITS, & MISC. (2.0%)	1	LS	\$	1,100.00	\$	1,100.00
	CONSTRUCTION SUBTOTAL	V 2				\$	56,805.00
	그 그 그 그 그 사람이 없는 그를 그 그 가지 않는 것이 없다.						·
	OTHER PROJECT COSTS (0.0%)					\$	-
	그는 그렇게 걸었다. 하루까지 그는 그렇게 하는 사람이 없다.	1965 - N					
	PROJECT CONTINGENCY (0.0%)	1	LS	\$	-	\$	_
		e.f					
	ENGINEERING	1	LS	\$	16,400.00	\$	16,400.00
							-
PRE	PRELIMINARY ESTIMATE OF PROBABLE PROJECT COST						73,205.00
							,

